H & 0l & AHS B Ml A

FA: SIMR D

g Ngoz 2

el 22 (2An2g N (EEEE))
SA - ZE . BR() - HRAR - BES of v G o HIDE2
2|3 AR 1t 920,008 806,236 13,772
Agels 2SR 848,054 738,094 109,960
3 (YAHN2E R 290, 183 208,912 81,271
SAEE =8 217,693 140,422 77,271
101 21AH| 23,933 0 23,933
04 JIZtN2Z2XNSE+ 23,933 0 23,933
oo ArR2ENA X
1,721,160 x1&* 122 20,654
cAUEE = 20,653,920 *12% 2,479
SIIZHRIZ 2R YEFOH
400,000 x1E 23] 800
201 et 3| 76,660 103,322 N26,662
01 At 2|l 71,160 96,022 N24,862
o3oF g2t 50,0002 *1002+62 30,000
oRA U JRANRA ARBETY
50,0002 * 16542 3,200
SRR 200, 00021128 2,400
SEEEEEE 9,820
OlFA U AUIAE BN S
100,000& *6IH 2=* 102] 6,000
S|4 2 239 JHHE M
3,500,000 *12] 3,500
-S|, SIEARY € 22 F U4 ME
2,00021*807} 23] 320
SOl RS BT
70,0002 x5 *23] 700
odd=zlz =R 24
30,0003 152 +43] 1,800
COIARIRE S AL AR
70,0002 +3% & 2| x4 & »82| 6,720
oXHUXR 550,000& * 122 6,600
SE=PIE=FS IR PNy
60,0002 *1CH* 122 720
od=J| gxtg 32,0002 +6CH* 12 2,304
S=AD| YRB(AWREA WA
154,000 x2CH* 123 3,69%6
oHEARY =& 200,000 x4 H*43] 3,200
2 352484l 2,000 3,800 1,800
oFAH A€ EHI= A
2,000,000 %14 2,000
03 A= SHI 3,500 3,500 0
o823 Mzl S 3,500,000 12 3,500
202 04| 20,700 20,700
01 =LHOHI 20,700 20,700
oHIARZAL K ZAL S SR =T
20,0002 x10E «15& 3,000
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FA: SIMR D

g Ngoz 2

el 2al(2a)2g X (EEEE))
SA - ZE . BR() - HRAR - BES of v G o HIDE2
SIREE N4l S
20,0003 *10H 60 12,000
©9l32% MLt &4
50,0002 x4 *32 +63] 3,600
cRAEH(3S) 30,0003 28 »353] 2,100
203 HR=&H] 3,000 3,000
03 A=A R =NH] 3,000 3,000
oolgzgFd 750,000 x4 | 3,000
301 EtE N = 1,400 1,400
14 DBt 2 a3 1,400 1,400
ALY U TANBO BH4Y
70,0002 x5 *43] 1,400
405 AtatE = 92,000 12,000 80,000
01 Tt =S F=SH 90,000 10,000 80,000
oL =HIE 7 2,000,000 x565*12 10,000
=93 iteg 7Y 80,000,000 = 1CH 80,000
02 TATUL] 2,000 2,000 0
oXYASAR S THPY
50,0002 102 *43] 2,000
olE =29 2,950 2,950 0
201 fet=3| 2,950 2,950
01 At 22|l 2,950 2,950
oj2EIZ 1,000,0002 %12 1,000
oQHHZ el 3003 5005 150
oflelE 22X H 2 S
1,800,000& 1,800
S5 Rd HEgHat 47,840 31,840 16,000
201 get=3y| 16,400 12,400 4,000
01 AtR2tc|HI 16,400 12,400 4,000
o233 RE AYUF 950,000& *16H 15,200
So5IZR NS YA
600,000& x2& 1,200
202 04l 31,440 19,440 12,000
01 =LHAHI 2,940 2,940 0
o253 2g BT HluAs
70,0002 x7EH*32 #2353 2,940
04 =Xl=to1b] 28,500 16,500 12,000
oolgl2tH R oYt
2,500,000 *14] 2,500
ooloiABE RO o4
4,800,000 *4H 19,200
olMYAZY Ardted SR A
4,800,000 1 4,800
olHHENH S WFRHA F4
2,000,000& *14] 2,000

_786_




A 2A3AAR D
BH: XYols YK
el 2al(2a)2g X (CH9: /M)
SA - BB 9(B) - NIRA - BaS ol ke G o HlmS2
O SEES 21,700 33,700 A12,000
201 L2 | 21,700 33,700 212,000
01 Ar22eltl 16,300 28,300 A12,000
COlZESIIES M}
5,000&*30&*43] 600
colHER 2R
550,000 *107| 223 11,000
oTETOH WA KX
40,0003 *8H +5H 1,600
coME AT T 2,000 5005 1,000
oOIFES Y USHAL =2 M
70,0003 *30& 2,100
2 ZZ2Y| 5,400 5,400 0
S EEER I ERS
600,000 42| 2,400
o ZHOHCHE! 2 EAIAE 2FH|
3,000,000 *13] 3,000
o3| o¥as XN& 557,871 529,182 28,689
o|H &=t 557,871 529,182 28,689
205 2l3|H| 557,871 529,182 28,689
01 2 ¥ &S| 105,600 105,600 0
ool FEEt] 1,100,000& «8Z =123 105,600
(02=PSE =y 186,456 183,882 2,574
Sk -FEEa=y 1,942, 2503 «8F 123 186,456
03 2|22 LHLI 12,000 12,000 0
SEIPSPNI=EAYN == felFS g
50,0002 x8H 30 12,000
04 2|R=2/04bl 49,920 23,680 26,240
ool@ =22|¢4 0dd|
4,800,000 x8E*13| 38,400
SXHHZHEM WFHAL FA
38,400,000 *30% 11,520
05 o E=2E=S Al 49,551 56,020 6,469
oo FR2E BRI
6,000,000 8 48,000
SHABAESE ARG SSEHI
1,551,000 14 1,551
06 2|3 2GR FA| 76,200 76,200 0
oo 2,400,000& 123 28,800
oSOl 1,150,000« 12& 13,800
SHAMBLAEEARSRARE S
800,000 *63| 4,800
SN EEEEES
800,000 x3E *12& 28,800
07 QAL (SSE, IR R) 2,000 2,000 0
o Ol A A S| 600,0002 x2H*13] 1,200
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FA: SIMR D

B K|gols) 2N
&elr 23l oZEs N (St &)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
S EEICERER
100,000& 8 *13] 800
08 QR A2NLHI(RIIRIE) 12,000 7,600 4,400
ool FISmEY
1,500,000 «8 & *13] 12,000
09 A F o] 40,000 40,000 0
oA I 5,000,000 «8& *13] 40,000
10 ¥ EAMEE=S 12,000 12,000 0
CTHBAROFS|C A FEIEIE P
7,000,000& *12] 7,000
oletgr: AlZ2d2o FHEols 28
= 5,000,000 * 104 2 5,000
11 oYE=0A=RE= 3,696 2,040 1,656
o=z EE=s 77,0002 x4 x 122 3,6%
12 2A=2UABRES 8,448 8,160 288
oxUALRHES 83,0002 x8& 123 8,448
HH2LZHI(2ABIARD) 71,954 68,142 3.812
el 2E| 16,830 14,194 2,636
el E2g| 16,830 14,194 2,636
101 e124d| 16,830 14,194 2,636
01 Ha 14,425 14,194 231
oAlZtRl 2R agt
11,1302 %128 QA 2t 122 14,425
02 JIEtAE = 2,405 0 2,405
SARIRIZRE (I NTS L)
11,1302 x2E x9A| 2+ 123 2,405
Jl=2dsl 55,124 53,948 1,176
JI23Hl 55,124 53,948 1,176
201 et 3| 49,564 48,628 936
01 AtR2te|Hl 26,128 25,192 936
oZ2lfH &l 250,000 x4 1,000
oUglf =¢ 250,000 =4 1,000
S U=\ 25,0002 x102r A% 123 3,000
SH2A=E 7,680
-S4 20,0002 x 142+ 128 3,360
NN 15,0003 x242+ 123 4,320
CNETE SR 20,0002 x2CH* 122 480
odJ| Sz 42,0002 x2CH* 122 1,008
o3JEEI| BX=
60,0002 *1CH* 122 720
o ZtQ Xt =Xl 2,000 x5A1 2t 12 120
oo EE ANRES
10,0003 125+ 122 1,440
o2l AIRE BIZE A 720
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SN ABIAR D
MM HYSAGHI(2IZAIRD)
&l D122 (CH9: &S1)
SIA - BE - O9I(BI) - HIRAIY - S Ofl b G o HIR=2
-2t 10,0002 x22+12& 240
-2t 5,000& 82+ 12& 480
cOSHFAR S|
8,000 x8% 80 5,120
SOlARIZYR B2l
8,000 x6H 80 3,840
02 32| 23,436 23,436 0
o NS XAl 1,500
-1 Xt 1,000,000 *1CH 1,000
23 Xt 500,000 +1CH 500
oXHEEE 1,500
-1&Xt 1,000,000 *1CH 1,000
25X 500,000 *1CH 500
oRERS 4303 *1000H*12& 516
oN3IR3 40,0003 «3CH* 123 1,440
oS A =2l 1,000,000& 23] 2,000
o Z23|oE, Ala HEEH 72
1,600,000 *33| 4,800
o 1,25 Xtg A= H|
1,600 *2002| & x2CH* 12& 7,680
o1,28x& (22ldl) 4,000,000 4,000
203 PRF=&IY| 5,560 5,320 240
02 R RFAIL| 1,360 1,120 240
o 2|3 ARt 80,0003 *17H 1,360
M EAN2IHRFAY| 4,200 4,200 0
<1591 0|3t 250,000& =123 3,000
o501 OloHAE 2 A4!) 100,000&  12& 1,200
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